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1. In each case, find all of the roots in the rectangular coordinates, exhibit them geometrically and point out which is the principal root. 
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2. Find the principal argument 
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3. Solve the equation 
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4. Show that if c is any 
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th root of unity other than unity itself, then
[image: image26.wmf]0

...

1

1

2

=

+

+

+

+

-

n

c

c

c

.


Hint: use the identity 
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Since c is any 
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th root of unity other than unity itself
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By using geometric series formula:
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5. Sketch the following sets. Determine whether they are bounded or not.
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